EARAROBEEIERT — 2 N— IBISH —F

20185 1H218 (B) 1EFW7H

Kl >538 #5 el 68

‘ [R1%] & ‘ [REBE] — | Z (%) 16000 B

[A&4£] 1 7% :6,000,000 @ 23 :2,400,000 @ 3 3 :1,500,000 @ 4 3 :900,000 5 7% :600,000 [
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
= . # 3 | REEE 1:36.9 5-5-5 34.6| 78.0 | 3 44 | LRE1EZ (EH)
11714/ B771 7L =R 54.0 =) (—) |KESLF
:O—-KA+ra7 BECLI-0 Sz e
= 4t 3 | M. FLA—H 1:36.9 3-3-3 |34.8| 77.9 | 2 472 | AEBE (FR)
217113 A7t€7—+ 54.0 (7€) (=) |EEET
X THANAIN BS54 T T4+ —t—) J—HrTr—LA
N JETERS : ~3— HEE (EM)
3 4| TLHU— 3 o4 (17;32% 53-3 |34.8|77.9 | 7 (438) gaaaga
LNn—ErTv— B:IATLvy b J=HrTrp—L
SRS 4 3 | EHERHE 1:37.0 1-1-1 35.2| 75.3 | 1 434 | REET (ER)
401101 a>r>or—X> 54.0 1/2) (=) AT
L:O0-—Kp+A7 B0 KTy o BpEEUE e
i . # 3 | BRBE 1:37.3 2-2-2 |35.4| 71.7 | 12 | 458 |EBMEEA (EH)
5/1|2| ZN=—NNT714T > 54.0 (1 3/4) (=) |HIEES
LN=vY7Z4 B:a3FvyVINILA HET77— L4
S S 3 | =HEK 1:37.4 555 [35.1]726| 5 424 | ERAFIA ()
KLH—2a i 54.0 (1/2) ) (;;k) J—ZRELZX
L:ZRFAd—IW R B:TIT7LI—FT147 #stt /—Xex
© o~ = e HIDEE : ~12- 2fRHEEL (E#
IN—3524 i 3 o3 1(.33;4.)5 1-12-8 | 34.1| 72.2 | 6 (454) $EE%E
R:F4—=TA4>N7 b B:YVTFR7TF472—K HET7—L
S5 L—F fo 3 | SEERR 1:37.7 13-10-8 | 34.6| 69.8 | 13 | 460 |HEiHE )
7 54.0 (1 1/4) o) | B #5TLy k9575747
L:T7ANMNGTTFY— B:aXEHFvo EvilLy RTr—L
N BERA— . —15- JRAERLT p::}
F—LEZXRET 4 3 54’_r0 (11.317/.3 15-15-14 | 33.8| 68.3 | 11 (434) gﬁa@i (E58)
R:F4=T1>nN0 8 BId7T42T82~)y b HE77—»4L
- . b iy :38. -7~ . . RRS (El)
7527 K- 4 s R R
L:RY—LYvy—=— B2 ILIT— HE Rk
P S % 4 3 | AiEiE 1:38.0 14-14-11 | 34.2| 67.0 | 4 408 | 1EIREB (E3#)
115|977 v/ 56.0 7€) (—) |fmEtd
R RKY—LYv—Z— BiFIAbY—> WiE  EBL
. PN = 4 3 | HE—H 1:38.2 15-15-16 | 34.1 | 65.0 | 15 | 410 |2WUEE (Ei)
12/ 8|15 /7—/[/'77/7— 54.0 ) (=) q’ﬁ?‘?é}
LRV —LYvy—=— B T7IRVAE BRE 72TV InNL—
3. LRI 4 3 | HILHEL 1:38.4 5-8-8 [35.5|62.3 | 10 | 462 |FFEE (Eik)
13/5/10| SvF—TL KU 5.0 1 1/8) O |HEss
L:O—-Kp+O7 B:Ivx—AU—-7 BHHE
y . 3 | SlnE— 1:38.4 3-8-11 | 35.5| 62.3 | 8 466 | REMEE (i)
14N 5|7V V7RI — e 54.0 75 o) | @) nwsF—437Ly KR
RN=YIFA Bib—tU— BEXZY K
> 4 3 | HEEA 1:38.5 12-13-14 [34.9| 61.3 | 9 468 | FHEX (E#)
15011 ¥a 7T 56.0 (3/4) o | T
L:aArFaM4y b Bi¥xvU-—vz1—7 Frilsis
: 3 # 3 | RLRKA 1:39.3 10-10-13 [36.1| 52.3 | 14 | 514 |EHHEE ER)
16/ 8|16 YI-Tx-U7 56.0 (5) -) EHE
L:gr—3I)7> B:AA—LE-—-2v7 — B RS
@ 71 L
) 47.1-35.1
NA>24 L | 13.0-12.0-12.5-12.3-12.0-11.8-11.5-11.8
® I —F—@EBIERL
1T=7r=
20—+ — (x1,2) (5,13) (4,6,10,14)12,16,7,11-3,9(8,15)
Gol=5r= (x1,2) (4,13) (6,14)-12(10,5) (3,16)7,11,9-(15,8)
40—+ — (x1,2) (4,13) (6,14)-12-(3,10,7) (5,9)16(11,8) 15
[ N3
B O 14 560M 714K 13-14 530M e E -7 1,540 JEHE 4-13-14 7,250/
BB 14 220M 4-14 1,500M B = 13-14 1,420 3EE 14-13-4 31,660
13 1704 4-13 1,240M B H 14-13 2,830/
4 320H

ABICOVWTRDTEEERROODE. TR LIV,




